The Rise of Industrialism 

Race and Social Justice in U.S. History

Part I - How Industrialism Rose in the United States
1.  According to the Power Point slides, what geographical advantages did the U.S. have heading into the Industrial Revolution?

2.  How would an extensive network of railroads make industrialization possible? (pg. 247, map)

3.  How would time zones assist in the coming of the Industrial Revolution?

4.  How could skyscrapers and bridges – made possible by the Bessemer Process – make a difference in the Industrial Revolution?

5.  What factor did immigration play in the coming of the Industrial Revolution?

6.  Discuss four advances made by entrepreneurs (businessmen) that helped spur large scale industrialism? (pgs. 248-249)
Part II - Robber Barons or Captains of Industry
Directions: For each situation listed below, decide if you think Rockefeller (Oil Industry) was a Captain of Industry (positively contributed to the United States) or a Robber Baron (gained at the expense of others, and possibly hurt the American people, pg. 248 in The American Vision). For each question, explain why you chose as you did.

1. Rockefeller cut waste in the oil industry and thus was able to lower production coasts. Lower production costs lead to lower prices and higher wages for workers.

2. Rockefeller forced railroads to give Standard Oil rebates, or kickbacks. In other words, owners had to pay him for using their railroads.  These agreements were secret and therefore cut Rockefeller’s real costs.

3. Before Rockefeller built his trust, there were dozens of small companies competing against each other in the oil industry. In this confusing situation companies could not provide the oil needed to meet the nation’s needs.

4. Rockefeller owned not only companies that refined the oil but also ships, barrels, and pipelines that carried oil (vertical integration). In addition, he had a near-complete monopoly of the oil refining industry.

5. Rockefeller gave $500,000,000 to charity, the largest amount ever given by one person.

6.   Rockefeller was worth $1,000,000,000 at a time when the most able factory workers made $14 to $16 a week.

Part III - Social Darwinism and Industrialism

1.  What was the theory of Social Darwinism? (pgs. 266-267 in your textbook, The American Vision)

2.  Who would benefit the most if the theory of Social Darwinism gained wide acceptance?  Who would gain least?

3.  In your opinion, is the theory of Social Darwinism good for society (would it allow society to progress)?  Explain.

4.  POWERPOINT QUESTION.  How does Rockefeller’s “American Beauty Rose” fit into the theory of Social Darwinism?

Part IV - Difficulties Faced by Industrial Workers

1.  Convert the “fuel and light” into a weekly amount.  ________________

2.  Now, imagine that you must do the weekly shopping.  Be sure to take into account the size of your family.   How much will you need (only quantity – don’t calculate cost at this time) of each item to last a week. (based on only the items from the price list):

Apples:_____


Milk:_____

Eggs:_____

Rent:_____


Meat:_____



Potatoes:_____
Whiskey:____
Fuel/Light:__


Butter:_____



Flour:_____

Soap:_____

Coffee:_____



Sugar:_____

Beans:_____



Lard:_____



Tea:_____

Vinegar:_____

3.   After you estimate how much you need, compute a rough weekly budget based on only the items from the price list:    $__________

4.  What expenses will a family have that do not appear on price list?

5.  Your wage:  $471/year, or $9.06/week.  Do you make enough money per week to support your family?  Explain.  Why is your wage so low?

6.  What are some other ways this family could make more money to ensure their survival?  

7.  Which of these options make the most sense?  Explain.
Part V - Industrialization and the Workers Response:  Unions

(Pgs. 250-251, in your textbook The American Vision)

1.  Discuss at least FOUR reasons that workers might join unions.

2.  Why was there opposition to unions in the United States?

3.  The book mentions three famous union strikes / rallies.  What do all of these have in common?  

4.  According to your textbook, why did many unions fail during the late 1800s? (Think of government and business leaders responses)

5.  What did the film clip from Matewan suggest was a reason many unions failed during the industrial age?






